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SECTION _ 5 / =N/ T — e 5w / -

Choose the correct answer .

“ﬁmﬁﬁﬁezﬁ :

T I g .

(]) II‘.\' oc y and When ¥ =

6 then y = 3. Now if x = 2 then the value of y is
W o y OF y =

6=y = 019y =2 B @y T~

qﬁ,l‘c'cy"ﬂ-q?\_\“-:ﬁ@’y:_}ﬂ |‘5W1=2§Gﬂy—~.ﬂ'<1¥17{’{@—
ﬁl'“ymx=63@'aﬂ1y=3(] |a1ﬁq-|_r_—_2311ﬁrcnyﬁmm-
q&.\'ﬁcyaﬂ'{l‘z

68,y = 30 |9 x =20 y 199 2111 —
(at\/'{l, (b) 15
(c 0r d) 20

(i) Which of the following is a square of an odd natural number ?
BT P! He= @5y SN TR 3 9
M @ ety (B SRR e 3of o
TETAA Ta S S dem IRty w7
ﬁnﬁﬁaﬁwﬁﬁwﬁwﬁwmaﬁ% ?
(a) 7256 _ (b) 169
(c) 546 (d) 754

(iii) The value of /8 + /27 + 364 is -
A8 + 327 + 363 1AM BT
N8+ 027 + 364 - @7 T T
N8 + 327 - <64 F w1 i —
IR R —

(a) 6 (by 7
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(iv) Euclid's division lemma states that if a and b are any two0 positive integers

then there exist unique integers q and r such that

LR AT Rt SEpiR T awmwm@immwwﬂmﬂn
zﬂmwvimsﬁ%wmqwrmwmnm_

Wﬁfvfﬂﬁmwﬂﬂﬁambmwmaﬁmwmﬁ
e 7 STECel B b SFAON TR €31 1 *TST T I -

gﬁmﬁmumﬁr@ﬁﬁﬁﬂﬁﬁaaﬂﬁbamﬁﬁmﬁﬁm
m‘mﬁmaﬁmwﬁmﬁ@ﬂ@nﬁmﬁmqmrmm_
e ot e 3 AR AR 0 3 b @ s ot & A T A

qut §&T ¥ q 3 ¢ foremm 2 16 - Em]%
(a) a=bq+r,0<r<b (by a=bq+r,0<r<b =
g;/ya=bq+r,{]<_ir<b (d) a=bq+r,0<r<b

(v) The number of decimal places after which the decimal expansion of the

43
rational number =3 will terminate. 1
ber 5353

3
ﬁﬁmﬂw?%sgw-ﬁw 2P IR R AR (2R TR R
A -

3
ﬂﬁmwﬂﬁg— a7 Wi e e B Al 2eu TR

R A |
43
msﬁa%nmﬁmﬁxsﬁwﬁmgﬁmmﬁamﬁﬁﬁmmmﬁﬁ
Li0]

SHAATFATT A —

| i
uﬁﬁqmzfﬂﬁmmﬁm@ﬁmmwﬁm%—
(@ 3 (b) 4
(c) 1 (d 5
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(Vi) 1f 1 is 4 Zero of the Polynomial p(x) = by2 + 4 (b + 1) + | then the value of

b is 1
qﬁp('”:h“h‘*{b*“+Wﬁ°fﬁrt’5maﬂm‘lﬂll?@mbwmﬁ'
ﬁp[-")zb.l‘z'i“él{b-?]}+]§|{WQWWIQ‘HWb-@§Wm_
gﬁp(-")““b-"2+4{b+!)+lﬁzwﬁaﬁﬁqﬁaﬁ@'mlmmbﬁ
BRI

IT&ilgtmpm=':’-“'2’“’4(13”“1)+latmar;'emﬁlé,ra’rl:,ﬁh‘ruﬁ%—

@ -1 (b) 1

() 0

(d) -4

(vii) If the sum and product of the zeroe

s of a polynomial are p and q then the
polynomial is

1
ﬂﬁﬂﬁﬁw'ﬁlmmﬂww%@pmqmmwﬂmﬁr

ﬂﬁdwwqmeﬁamwwwwpmmwwwﬁw—
ﬁmwm’mmmmmpmq
AT e feraiaTet amie
Hﬁﬁam%mﬁwﬁmﬁqmm:paﬂtthm%—
(@) x*+(p+qx+pgq (b) x*-(p+qk-pq
(€) /A*~(p+qk+pq (d)vﬁﬂ—mﬁq

(viii) The condition that the line ax + by + ¢ = 0 passes through the origin is 1
ax + by + ¢ = 0 749 (YOI TARE SR @A 6B 2 —
ax + by + ¢ = 0 TR ol 1 fw qrem =éf = —
ax + by + ¢ = (0 M graan i famfA o T T S -
Wiav+by+c=0F A gA TR [ 2 -
(@) a=0 (b} b=0

(C%{}\ (d)y c#0

' 4 3047
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2.

(ix) The coordinates of any point on y-axis is mgm 1
y ST GG 43 AT RAd B 27 E‘%
y ST SR U (@ (I 7 213 31
y-Tfe e e aF Srfgarn R af e e -
y-HHW@HMﬁng%“
(2) A0.) (b)* (x,0)
(€  (x.x) (d) oy

(x) One root of quadratic equation is 2 and the sum of the roots is 5 then the
equation is 1

<b1 Fagre AT <51 T 2 ST TA B 1ol 5 TS0% AR T
<3 fagre AR G2fb T 2 9% o1 7fba v § oreret SR T3
AR SR weeTs AR deEn 2 A Ag AR SR 5 e
HHHYTEET T —

afe foreht femma eftetor =1 o et 2 % S gE w14 5 2, @ wfieor 2 -
(a)_¥-5x+6=0 (b) x2+5x-6=0

() X*-5x-6=0 (d x*-5x+2=0

Choose the correct answer of the following :

TR Wa SeLh! JMfS Sfereat

e wn e @ s mzm

g Ve feaeE) g O

(1) lf%. a, 2 are the three consecutive terms of an AP then the value of “a” is 1
‘ﬂﬁ%. a, 2 B! TG 25ifeq fofG6! T 2% W (S®W a ITHTI —
zrfﬁ% a, 2 3T FHIEH elsifen Reafh Ffi o 21 orge a-93 TH 7@ -

'ﬂﬁ%alﬁﬁmg%ﬁnﬁzﬁﬁmmwﬁ%ﬁmmmaﬁmw_
afe 2. a. 2 Fel AP % o i e A 1 a 1A R -

7 5
(ay g (b) 2
9
(c) ; (d)y 5
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N

_ hen
ono AC = 6 cm, t
- gp°. If 1

(i) AABC is an isosceles triangle in which £C

AB=" ,ﬁ.ﬂctsﬁm
AABC 951 sfaarg fage 1's £C = 90° it AC =6 T
AB =?

' _ O
AABC 93t smfar farges araie £C = 90° | AC = 6 TLR
AB=?

AABC 31 A8 Te iR srarfem SaE AC:%O*GﬁAC‘:ﬁﬁ
SR 37SAT AB = 9

AABC 0 wfarg e & | o £C = 900 & | AR AC = 6 T EL
AB=?

\ (a}g/ﬁi\ﬁ em/T=: M/ At
(b} 6 cnm/T=:R:/m1. 5. Ayt
(©) 26 crn/C=:Ro1 . et
(d) 4\@ e/ R/ . Ay

(ii1) The distance of (3, -2) from the x-axis 1s L
(3, -2) RPTB x Sao R 7'7
(3. -2) Refboa x w7 (e v 2
(3, -2) fa=dtam x-Tf& FRAfAserr s s —
(3,-2) g - agh 2 -

(a) 3 (b) /13

(c) 1 Jd.}/?

(iv) The ratio in which y-axis divides the line segment joining the points (-2, 0)
and (4, 0) is 1

(-2, 0) |1 (4, 0) RN @ARGT y-3HZ S5 ) TogoiTo! 27 —
(2. 0) G2 (4. 0) TRTNTM @AAGTE y-SCPI S1%1 71 Fepoiret 23
(=2, 0) 3M (4, 0) TR TG WRKE y R FRET AR G

FIUTEET S —
ﬁgaﬁ(-z,maﬂtm.maﬁa‘fsﬁaﬁmaﬁy-amﬁmaﬂtrmfﬁ%nnﬁa
R B, TR~

(a) 2:3 (b)—1 :2

(¢) 1:4 (d)y 2:1
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(V) A straight line which intersects a circle in two points is called -

1
O A (AR B 36T O g oo 2 @eroie 37 —
b T @@ 7o 9 e o wE i =)
R T g Wi e A R g dre wan wmie -
@W%@Gﬁﬁhﬁ?ﬁﬂﬁﬁﬁ@ﬁmuﬁﬁzmg@mg_
(a]_ jhord (b} radius E2m
w1 AP b
L) 1Y
fafet v LR
Sfran ey
(c) tangent (d) Secant
e =
o =
RUECR ) TG
et B @1
(vi) IfsinA=%then tan A =7 1
ﬂf‘\"rsinA=%T.'\5EGtanA='? ERE
O

, 3

‘lﬁsmA=§ BEFA tan A ="
_ 3

ﬂﬁsmA=; FHeATtan A =7

Ife sin A == B, AManA="
5

5 4
(a) 3 (by 3
2 2
3 2
{c}b_'z (d) 3
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circle with centre O so that
then £PTQ is equal to 1

Rl
OMWWWTPWTQWW,Wﬁom 110° (2TS
<PTQ i g’z —

qﬁom““‘mmw 932
<PTQ - @@ az —

TQ %% ==fss, qice £POQ = 110° B

) A LPTQ W sy —

ﬂ%TP,TQ%zoméwqwawmﬁwma% £POQ = 110°
3, @ LPTQ wrr d

(@) 60° (b) ﬁ{}o
(c) 80°

(viii) If the surface area of a cube is 486 cm? then its volume is —
A0 Y 5 it 486 C&:f1:2 2 (oT% Ze e 3'7 —
B TR “poifer T 486 TR 2 = orere R TS 7q —
AR T g gsermsfir i 486 A2 S areen A A awi —
afe et o 1 gt et 486 32 2, @) gEet smaE 2 -
(@) 81 cm3/t=: 30 a3 A s
(b) /243 e -3 /o1 3 i
(€) 529 emd /=3 3 A A

(d) 729 em¥ i3 . 3 A s
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(ix) The median and mode of a data are 33 and 45 respectively. Then its meanis
B! SUR T WIF I TAFH 33 WF 45 T Y T —
<D ST R (3 T8 T 33 GR 45 TANYG I —

AR @R AR ST Aerion Hid 33 3 45 ARy R S —
T e 1 Ao 3R agereh HAE: 33 3 45 R, A g A & -
(a\))(dBO (b) 33

mpm
()47 | (d) 35 2

(x)  The probability of getting a number 8 in a single throw of a die

! gl 3 TR § ot it 77 —
4 Tl IR T § e TSR T —
TH& STEEE AR TRETATE § FHATaR ST e —

U U ! T a1 St 3 8 i o e & —
3
@5 O;
(c) 1 (dUO
3. Answer the following as directed :

ﬁK#QFiﬁmﬁ'iﬁﬁﬂtﬂG:

fau a1fed e &

e % arER Wi -

(1) What is the area of a rhombus whose lengths of diagonals are 8 cm and

4cm?
<b1 391 3 qorers onef § e WE 4 A @RI
3 TR 9 o0t o 8 A1 @R 4TI @ R e 7 g

1

LU

A T G grE A s w8 A s 4 /fy awYsr

TETSIAT |1 AT ©

TGOS F1 @bt 941 B fre A St i e a8 At 3k

49t g ?
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§ : R E to get a
(1) Find the smallest number by which /27 should be multiplied so as 10 & 1
rational number.

! bR 5 RN \27 F *31 TR0 @bt #Hfw FRA coirt T CR
TR Bferear |

TR RIS @ R Frew 27 s ot 70wt e ~1Rom eyt el T
O Rl == 2 |

wafrgy gRe SR T @ e A T SR A
TR ¥ FfTE R |
w B e W R R /77 8 o e 0 o e e T B |

(1i1) What is product of the zeroes of 4x2 + 8x 2 !
4x? + 8x T (PR “Rege R 7’7 9
4x? + 8x — QA WMBRR g H 710
4x? + 8x 1 wvfrE iy s WS 7
4x2 + 8x 3 YFAH! HT TGS TR 7

If n is the degree of the polynomial p(x) then what is the number of zeroes
of p(x) ?

3 BT 799 p(x) T T n 2 (STY ILEIHR 4 5! R 27 7
™ 2 T p(x) - 97 T n T ST TR X[ R IS T 2

IR o8 fagm Mai p(r) B fofer 0 T seen Rew Tl o ®
AT S8 S 2

afe et agg p(v) 19T n R, A p(v) % Y=t Y w7 wnft 2
(v) Write true or false :

Ox + 0.y + k=0, (k # 0) is a linear equation.

1

%) 1 S ot

Ox + 0.y + k = 0 (k # 0), 9B T3z #qz1, .,
] I S TEAC

Ox + 0.y + k = 0 (k # 0) @3> S AN
LRIRCIECIA T

Ox + 0.y + k =0 (k # 0) 3 A RGN G9=ATE |
g 1 79 fefgu .

Ox + 0.y + k = 0 (k # 0) uh tfiga gt 2 |

B23-GM (EN/AS/BN/BD/HN) 10
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(vi) Find the number of solutions of the equations

¥—4y+6=0and3x-12y+18=0 1
X—4y+6=0F 3x - 12y + 18 = 0 FANaIq Ay eyt ety 341 |
X=4y+6=09R 3x - 12y + 18 = 0 FIACR A7 He= kg 3 |
x—4y+6=03W3x— 12y + 18 = 0 FuTTEi mrapersfy st fagm |
X—4y+6=03M 3y - 12y + 18 = 0 Gt & &=t Y T 79 v |

(vi1) What is the condition if the roots of the equation x? + px + q = 0 are real
and unequal ?

X2+ px + q = 0 FATIIDI 71 7B A ST SO @R 51 s 9 By

x2+ px + q = 0 AR 1 7S a5 932 ST zeTR SR it 9

X2+ py + q = 0 FaETEh e At e 3w At Sty T 2

FHHEW 32 + px + q= 0 F A s TR AR B v TN R 2 w:%
(=

(viii) What is the value of ¢ if the roots of the equation ax* + bx + ¢ = () are equal ? 1
av? + by + ¢ = 0 AAFINOR o1 95 T 2 HA c I 27 9
av” + bx + ¢ = 0 FAFRMBA T 76 7 20 ¢ 999 TS 7= 9
av? + bx + ¢ = () FAFYTEM U A3 G SFrTsen ¢ B 9 w1 s 7
e T av? + by + ¢ = 0 % & SR E | A ¢ HTAH 1AW 7

(1x) Whattermofthe AP2.4.6.8 ...... will be 50 ? 1

EEE
2.4.6.8 ... ASSTHR e s 50 g 2 E’Fﬁ
2.4.6.8 ...... 2ioifefba T© 724@ 50 A 2

...... aFdfe Sy o faermra 50 gvie 2
AP2.4.6.8 ... %1 & |1 9E 50 B ?

B23-GM (EN/AS/BN/BD/HN) 11 3047
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(x) How many te

sum is 78 9 S Of the AP, 24, 21, 18, ...... must be taken so that thejr
24,21, 13, . 1
24,20 1 e R0t o 1t e catorer 7 7% 9
) 21‘13 ...... % u%Mﬂqﬁmm@tﬁwnm?
o, ?. ...... mﬁﬁ"‘l : ; FeE :
AP24,21,18, . %ﬁ’?ﬁ“ﬁwﬂwsﬁm?
4 Answer ip short

oy Tay

RO By

A R )

FY A I Efrg

(1) Ina tri ]
EC=?angeAABC, DE|IBC. If AD = L.5cm, DB =3 cm, AE = | cm then

“ﬂm’ﬁMBWDEHchﬁAD 1

& o EC o =LS®R[:, DB =3 &, AE =)
?g ;’@‘ AABC TS DE || B | of AD=15G1R., DB=3 ¢if, AE=
T St AABC 3 DE || g | 3¢ AD = 1.5 3f, DB - 3 afy,
AE = 1 3 Jmt apeen EC=?
;*:%ABC"?DEHBC% |3 AD = 1530, DB = 3 35 3 AE | dnf
,AEC =9
) AB B
(1) In AABC and ﬂPQR~6'§=§§‘=%then what is the triangle, similar to
APQR ? 1
B
3 AABC &% APQR 7 S—E-:-P—%%m, (B8 APQR 3 7151 > 2yt
fagei & 2
AB BC CA
I AABC @38 APQR — @ QR = PR~ pQ T U1 APQR - 7 e
fgefs & 7
AB BC CA
If¢ AABC 3mY APQR f QR = PR = pQ T ¥ APQR i Ewd W
HTEIRTHI a7 2
AB BC CA

AABC 3 APQR #, QR ~ PR " 10 2, APQR % wew s Ay 2 7

3047
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(i) What are the co-ordinates of the mid-point of the line joining the pointg
(=2.5) and (8, -3) ? !

(=2, 5) 9% (8, ~3) M @ e g B 9
(=2, 5) @32 (8, -3) TN @ vl =T M 9

(=2, 5) 3 (8, -3) R} grerrarTa Y o AR vy vy o ?
fagart (-2, 5) 3t 8. -3)ﬁﬁ@mmﬁmﬁgmﬁiwhﬁmt ?

(iv) If the points A(6, 1), B(8, 2), C(9, 4) and D(P, 3) are the vertices of a

parallelogram, taken in order then what is the value of P 2 1
M A6, 1), B8, 2), C(9. 4) |F D(P, 3) 2 @3B Fare B
e A R = (o p Ay R '3 2
T A6, 1), B(8, 2), C(9, 4) @ D(P. 3) Retafn 9% ww w2 Aehices
AR 2 IR P-3 i 37 277 2
TR A6, 1), B8, 2), C(9, 4) 3m D(P, 3) ReIeRfy Rresermef wied forfeafy
fer= Y areen p & wrr o il 2
afe g A6, 1), B(8. 2). C(9, 4) 3tk D(P, 3) T FaIc Tqfs % ¥ 3t 3w
R, @ P aw B 7
(v)  Value of tan 48° tan 23° tan 42° tan 67° = * 1

tan 48° tan 23° tan 42° tan 67° I A =2 1

L]
tan 48° tan 23° tan 42° tan 67° GF T = ? E’@

tan 48° tan 23° tan 42° tan 67° A am = 7

tan 48° tan 23° tan 42° tan 67° HTHH = ?

(vi) What is the value of 2 tan?45° + c0s230° - sin260° ? 1
2 tan® 45° + cos? 30° - sin? 60° IAMF 22
2 tan? 45° + cos 30° — sin2 60° G T7 B ?
2 tan® 45° + cos? 30° — sin? 60° fr oET I 7

2 tan 45° + cos? 30° — sin? 60° FTAH FT R 7

B23-GM (EN/AS/BN/BD/HN) 13 3047



(Vii) What is the distance between two parallel tangents drawn on a circle of
radius 4 cm ? 1

4 (R PR 9 oot sraregaen e opotera W 7R A 2

4 cm WWWW“’WWWWW?

4 3% gEEl FaEme AR oy 7ife i) S AR SreTET 38 2
4 et 3 ) s o1 el 2 o e Yot 5 e o g8 A 2

(viii) The length of a tangent from a point A at distance 5 cm from the centre of
the circle is 4 em. Find the radius of the circle. I

T8I (T 5 Cﬁzﬁ:MWamﬁﬁAawwﬁfﬁWW4tﬁ:ﬁ: I
IR PG fefy 3y |

08 (T (T 5 O, vRee el q2fd R A7 e 93l iR ol
4R, 135 e ety oy |

S e 5 3t S e st e A e 7 g G
TS 4 8 | Sl wEE g

IO DR A 5 A R gl v R fig A T i o e ) w4 A
? | gu Y frsa 7ma v |

(ix) The length of the minute hand of a clock is 14 cm. Find the area swept by

the minute hand in 5 minutes. 1
<01 WOIF ffGa FOroeR Tef 14 =, 5 e w8 ibrorEm A werR
Fifel Tfersar |

«3f5 9Ty Wfsa SO wref 14 iR, 5 ffd ofer S5 @mr gofem
CPae 1903 ST |

o it fafie qef e 14 @, 5 fifesma fifve gean Manfy s
eeTsty fegd |

T U9 % T arefl 7 1 ward 14 §f R ) 5 e d udt ) g & g
&A% T4 hITIT |

B23-GM (EN/AS/BN/BD/HN) 14 3047



5.

(x)

Fill in the blanks choosing
brackets :

If the difference between circumference and diameter of a circle is 30 cm

then what is the radius of the circle ? (use n= 2—72'}

uﬁmwﬁﬁﬁmwwm%ﬂmmﬁ:@mww%

LE [mw nz%

uﬁaﬁmﬂﬁﬁma«mﬁ@ 30 G180, = orere gafa ed §

W3? (WW nzg.%]

ﬁmeﬁmMWB@ﬁmmﬁfﬁWWi@ﬁ

ETE AT SN 7 [‘ﬂma.n:z—?%]
ﬁ@wﬁwﬁﬁaﬂtmﬁmﬁrﬁwaﬁmiﬁhaﬁﬁﬁwwﬁﬁ ?

(n=7$1mﬁnﬁ|) %‘%

the correct option from the alternatives given in the

WWWWW@%M&%E&@W:
WMGWW@%N@@%WMMW%W:
ﬁﬁmmmﬁwmwﬁtﬁmaﬁ%ﬁmWHmmmmm

QT |

e H o e faepedt 3 & v s e fem i |
0

(1) If the volume of a sphere is 288 © cm3 then radius of the sphere is

(6 cm/7 cm/ 8 cm/ 10 em)
B! (NTHY TS 288 1 T2:14:3 7' (& (AP T 2’7 -
(6 w:f7 =8 [CHEHAT) Cﬁ:ﬁl:)
a3fb (sireTRR e 288 1 (1.3 50 e e 2@
AN TR 8ER 10/
R et e 288 n &f e ger W @at s .
(6 |fd/7 |fty § @y 10 afy
ﬂﬁﬁﬁﬁﬂmixxncnﬁ%,ﬁﬁﬁﬁﬁ?ﬂl% .
(6 5t/7 Al g Tt 10 B

B23-GM (EN/AS/BN/BD/HN) 15 3047



: of
H . 4 mrcumfefeﬂce
(i) The curved surface area of a cylinder is 2200 cm” and the 1

the base is 220 cm. The height of the cylinderis ___——

(4 e/l c/10 cm/ 3 cm)
B @EE @ P 2200 R wE gid -« 220 efi: | O
THOITI - (4 & Cﬁzﬁl:e‘mg‘.ﬁl:f 3 C‘i‘l:ﬁ'-]
@ @R T s 2200 oRe @Rk g ok 220 TR @
TSl T3 ¢ mRaoER 3ER)
AR TR S g R 2200 A smy gty de R
220 3 | TER g SEE (4 2ty 10 2 3 3R
o A 1 T T S 2200 e? 3 39 3w 6 iy 220 om B,

IR (43w gfy 10 Ay 3 A

(iii) If the mean of x. x + 3. x + 6. v + 9 and x + 12 is 10 then value of x

(5/479/8) 1
W v+ 3 x+ 6, v+ 9 TF x+ 12 I WG 10 W@ v ITNL
(5/4/9/8)

W oy v+ 3 v+ 6,0+ 9 GR v+ 12-97 Y 10 W YA -9 N TR

(5/4/9/8)

AR vx 3+ 6.+ 9 AWM v+ 12 T erREn 10 @ st « B oA wee
o (574/9'%)

MW ox+daro -9y RFIMAFOR, AaHARET |
(5/4/9/8)

B23-GM (EN/AS/BN/BD/HN) 16 3047



(iv) The probability of an impossible event is (1/5/0/6)

W TTETBARTBROITI . (1/5/046)

ol PTG TR TWROITR . (1/5/0/6) e
ﬁaﬁwﬁsmrsﬁmmwﬂq__‘.(usmm) O]
qmmmﬁmfam%_uusmzs)

A die is thrown once. The probability of getting a number less than 5 is
1,1,5,2

SHRE

Bt AP G TR *fear 7 | 5 T HF YT (IR TSRS 27
1,1,5,2

3151313

G0 *h G (TR AT T |'5-97 1A CRIG R4 18T TSI 7@

3/5/313)
A8 TR QR TReeTE W | 5 g 3= swfm Amaf s
—
T U ) Uk R ST T | 5 8 B T W@ F 6 Mfrewar 2
1,1,5,2
[E/E/E/EJ OO
=

-
B23-GM (EN/AS/BN/BD/HN) 17 nd



SECTION - B / ¥ —jqf / g — it / @—argnn / T—HFT

6.  Factorise : z— 7+ Txy - Xyz 2
Besiid Ruga 1.2 -7+ Txy - xyz
e RO IR 2 - 7 + Ty ~ XYz
ﬁg?ﬁﬂ‘tﬁ%? rz-T7+Txy-xyz
Wﬁﬁ({ r2- T+ Tvy-ayz

7. _/Show that 5 /3 i irrational. 2
GRS @ 5 — 3 Seifaam |
(418 @ 5 — 3 WAy |
e fe 5 —\[3 an vaeenfy |
fog o & 5 - \3 @ sfo den

8. In AOPQ, right-angled at P, OP = 7 cm and OQ - PQ = | ¢m. Determine the
values of sin Q and cos Q. 2

AOPQ ¥ P 3 &% OP = 7 & W% 0Q - PQ = | &M | sin Q W&
cos Q TN ey 331 |

AOPQ 93 P AR @& OP = 7 (1 @38 0Q - PQ = | &1 | sin Q @
cos Q - 9T facfg T3t |

AOPQ T P a1ma wify @, 3 OP = 78f 0Q - PQ = 1 A | sin Q 3T cos Q
o g |

AOPQ # foree1 ®1o1 P 5Ham 2, OP = 7 8t 3t 0Q - PQ = | &t R 1 sin Q 3ik
cosQ%HﬂiTTﬁﬁﬁrt{l
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1 i}
9. Ifsin(A—B]i'z”.cos(A-:fB)z A+ B<90 and A > B.

. where 0° <

] —

find A and B. z
nﬁsin{AaB)Ié.cos (A -%B)z%,ﬁ’@l}°<A+ B < 90° &% A > B, (ST
A o% B a3t |
H‘ﬁéin(A-B):%.COS(A+B}=%.WUO<A + B <90° @R A > B, DR
A @32 B (A A1 |
Tr_l,ﬁ sin(A~B)=%.cos(A+B}=%5ﬂ'ﬁ 0°< A+ B<90° T A > B 3 A
3 B @ g |
ﬁimuA+m=%mmuxﬂﬂzéch+BSWRA>B§ﬁﬁAﬂﬁBEﬂ
T A HAT | E.%‘
[m75
10. Hari tosses two different coins simultancously (say. one is T | and other is T 2).
2

What is the probability that she gets at least on¢ head ?

7 751 for Y@ araetel 55 Fi9ez (4, a5 | TR Wi WA 2 BRI | (98
s TS B! 1% TR TSl 7
=R b fom T@t G TF T IR (40, g3 1 Bt @R S 2 Or) | T 3
Fe 93 1§ 6Ty FSRe 1 7
mnﬁ@@@nﬁa%mm@n@wmﬁ@nﬂm@w}mz
GFy @rsft) | Fad @eTEeTa S8 G AR ST T ?
<R 3 PRt fran 7 O e FoTeR & (5T AR O R 2 1 1R ST
%m?zw%}lmﬁwmﬁm%ﬁﬁaﬁmﬂm@ﬁﬂmm?

11. .Solve:x+y=l4xv-y=4 3
v |
AN PP v +y= 14 xv-y=4 .
60
AMRHI@ v+ y= 14 v-y=4 F[f'.’ﬂ:
qrEguTs fegA vty = 4y -y =4
AR : v +y= 14 v —v=4
3047
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12, Fing the roots of the equation 2x” + 12 = 2.

213+%=21"|§1W‘T‘!%@%@ﬁwm
1r:+%=zmﬁ’wmqmﬁmmn
1\-3+%:z\-werrsﬁﬁmﬁr@’tﬁ§a|
e 2.2 + 3 = 2x % el 8 A |

13. How many two-digit numbers are divisible by 3 7

Bt SRBRME FRYR Rt 3 @ fRrereg 2

wfb o R srRyra Fofb 3 2t freren 2

A G A SR B 3 i o
<1 37! aret! ferat Eend i 3 fasa # 2

14. S and T are points on sides PR and QR of APQR such that ZP = £ZRTS. Show
that ARPQ ~ ARTS.
APQR ¥ PR W% QR Jeq 7 S WF T 51 R A £P = LRTS | (A

ARPQ ~ ARTS |
APQR-4 PR % QR 18 398 S @k T b R A 2P = ZRTS | (TS W
ARPQ ~ ARTS |

S 3R T 31 APQR 4 PR 31 QR smafRAfy wmame awa farg) S £P = £LRTS |
fefr f&¢ ARPQ ~ ARTS |

APQR #1 3l PR 3 QR R Fm: fig S aft T @ v fRa ® 1%
/P = ZRTS & | 05T & ARPQ ~ ARTS 2 |

3

15. If A(-5.7), B(- 4, -5), C(-1. -6) and D(4, 5) are the vertices of a quadrilateral,

Find the area of the quadrilateral ABCD. 3
M A(=5, 7). B(- 4. -5), C(=1. -6) TF D(4, 5) RgaRnt @bt vgrged My =,
(ST8 ABCD 5g&eihN 3ifel Sfeeat |

W A(=5. 7). B(- 4. -5), C(~1. -6) @R D(4, 5) Rrafd o3l vgdrem Al =,
OIZH ABCD S&E(b (et foiefd I3t |

e A(-5. 7). B(- 4. -5). C(~1. —6) 3 D(4. 5) B wra a2y fufeh
Saree ABCD smatfrsfy geemgfu fega |

Mg A(-5. 7). B 4.-5). C(~1. -6) 31 D(4. 5) & T % T ¥ @ 30 wpls =
BT T HIT |
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16.

17.

Prove that in two concentric circles, the chord of the larger circle, which touches
the smaller circle. is bisected at the point of contact.

ety 1 (1 70! A TG, TleA TGHR TN 7 JEUHre > T,
wyore =TS TfeS =7 |

et T @ 7S A 3aTe, 7T e @i b gabew = e, Wi
WW@{{H

o g R A el e e de e G e

fufergratan il frdarma qum gre s |

firg i 5 2 w3 8 2 g 1 o S B 9 ) e e 2, g

R gwfgai gl 2 | mpE
2

A horse is tied to a peg at one corner of a square shaped grass field of side 15 m

by means of a 5 m long rope. Find

(i) the area of that part of the field in which the horse can graze.

(ii) the increase in the grazing area if the rope were [0 m long instead of 5 m
(use ™= 3.14)

|5 RB ITF 4 eI Sz ARE @B e b g 5 RibR A I/

451 (A1 1% TR TR | |

(i) TR T BT S AR (7R SR <ifed foef

(i) af ARl 5 FDRA e 10 5 Bee =8, SIA SEAh I e 4

R (T =3.14)

|5 FBR R 9IS FEfTwarea Qe T G3iH I <31 4fbre 5 FoR o

1 o @<l CAIST ey A1t TR |

(i) memmwmﬁwﬁﬁmﬁﬁﬁw !

Giy i 7R 5 fbicew sfiaes 10 DR o =W B Al e P R
IR | (IR TR n=3.14)

R moEE! § frer e fest |5 firer Ry T A ol e e wR

m@*mmﬁmmmaﬁ|
' =

Qe | (= 3.1489)
isﬁagmmﬁﬁmﬂm%ﬂaﬂﬁ;@ﬁmaﬁ@ﬁwaﬁaﬁsm
wref) Tl & &ty o @ | I I
(i) ﬁm%wwwa}awﬁa‘@wmmél
(ii) ﬁmaﬁaﬁmﬁqﬁ,aﬁﬁéﬁsﬁaéﬁmﬁ%mm 10 Hi

é’ﬁt@ﬁﬁﬁﬂ%mml(n=3,liaﬂﬂﬁﬂaﬁﬁﬁn
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al wooden block

. bic
wce of a cu Ige of the cube,

18. A hemispherical depression is cut out from one f al to the €

| 4+ - » 15 )
such that the diameter “/* of the hemisphere 1§ €4

Determine the surface area of the remaining solid. O 7l @R T
CIE R
B TR 5T TR Bt pperal b TS AP syt PR 3

muﬁwm“r*wwmmwﬂﬁﬁmwwmm
ﬂﬁWWW@dﬁ%mﬁﬁmuﬁﬁmaﬂ'imw
(RS AR TS S 1 +/° G 2HA A T 2
%o frefy | S
R o 51 S ey s e gt ETT o frg
e WA W T 3 Tty wif aee e | gEE T
qeeTsiorE fog |
@Wﬂh%mmﬁMﬁﬂﬁmw@mngjj:g
R T 2 36 et w1 s e we o R e g |
HA%el TTd T |

19, Af the median of the distribution given below is 28.5. find the values of X andy.
T rstema we 3t 28.5 2 (or® 4 Wi y 4 T Ofenet |
e fRreratTm wummt af 28,5 23 orege x @3g y-a7 T T |
TETaf TRERMRTY Foeman 9f 285 S aveet v ST y o fegh
% 13 fow 0 w2 o A 28,5 8, v 3K y e
' Class interval/ (2% sgatay i Frequencyw/j
| ot SR eIt Wit ietieT | QIR TR AT
. = - — |

—_——

3

3

0-10 5 |
| 10 - 20 X |
| 20 -30 | 20 |

3040 | 15 ‘
40 - 50 | y |
s0-60 5 |
TntaV{S/C‘TfBF‘ITﬁ@_ﬁ | 60 ___,I

20/ Construct a triangle similar to a given triangle ABC with its sides equal to 3 of

5
the corresponding sides of the triangle ABC { i.e. of scale factor 3] 4

4ot 2 fargs ABC 3 Fpits & @bl fagw Wik Ao 3WR @I ABC

mWﬂW%@%W | Lmﬁamc@a%a} \
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a3t 8 fage ABC-«q s o @3t fagw o ans @3 RS Apc
fargefb e A 2 me*mﬁaﬁ‘ﬂw@a aa]im

mawmﬁmmcﬁm@mmmmmméﬁ
SETTRART ABC ety Sramt smarfed 2 ﬁms[3wmﬁa@ﬁJ

@ feR e Bnget ABC % wmew s s 6w i, ﬁaﬁm%&a ABC #
W‘Fﬂﬁﬁ3® i [mﬁaﬁmw;%] |

w, 1:
OR /A% / w3 / wan / e ma%
Construct a triangle of sides 4 em. S emand 6 cm. and then a triangle similar to
7

it whose sides arci‘oi' the corresponding sides of the fist triangle. (Write the
steps of construction.)
4em. S em =R 6 cm AT B {ags e w41 W o Wﬁnmw @R

b1 fargs = \wwmmawmwﬂmm B9 7Y | (WP
e faf¥d o)

dom. 5 om GR 6 om IR 93 Trgs = @l IR BRI G 7 G (a5 e

wﬁ\a\j;eﬁ mmwﬂaﬁ@ﬁa &1 TR | (R i o 1)

4Lm§mmﬁ6unm@1ﬁrﬁﬁqﬁmﬁ‘wmaﬂﬁ§m%ﬁm%tQm
wifed ae FmERum anfe Sl smERen 3R srefRumh S

mﬁ@ﬁ%wm&n@ﬁmwnﬁr@ﬁm)
4«:111.5011@'(6;:111Wﬁﬁﬁﬁﬂ?ﬁﬁﬂﬁﬁﬂ&ﬂtﬁiﬁmﬁ

¥ figes 1 v Aifire, eyt R g Fige 1 s it 913 4
(=1 & 9o &) fftgu )

21 1f wwo zeroes of the polynomial 2x? — 31 — 337 + 6y ~ 2 are /2 and 2 then
find all other zeroes. 4
et 3 3 - Gy - 2 TRIMCBR B! M 2 TF 2 | 23R IR0 % o < |
20t - 3t 38T - - 2 TREMIGR 90 X 2 @R 2 | R T S fer xRt s |
20t - 307 - 307 - b - 2 e M TR o a2 w2 | af g mde
T @ g |
AQ FEIC 20* - 3t 3T - oy - 2 IR A2 3 A2 R @ v i vt )
Ta i |

R
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